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~ Math 3 - Unit 1 Test Review
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1) In which direction must the graph of y =— be shifted to produce the graph of — 3
x
i . R
et 2 doon 3
2) At which x-coordinate does f(x) = -|x -4| +3 have its maximum value?

X =4

3) An inverse is what type of transformation?
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4) What is the inverse of f(x) =—3-?
= + (0 - - }
X = L2 Sx—lo =y
3X = %-I (o

5) Sketch the graph that best representsy = -(x + 2)? - 4?
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6) If the graph of y = x? is shifted Ief%‘4 units and up 2 units, what is the equation of the new graph?

Y- (x+4Y + 2_

7) What is the axis of symmetry for the graph f(x)= x* - 2x? + 4?

®K=0




(8 — 13)Match the equation type to each graph or table (linear, quadratic, cubic, quartic, rational, absolute
value, exponential, logarithmic). Some may be used more than once or not at all.
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14) Given the function graphed to the right, state the domain and range of the graph and its inverse.

Original Inverse
Domain: ("‘OO}OO> Domain: Eﬁp\) O-Cb)

Range: EZ | QC,) 'Range: o G’-«Q/ Q“;}) 5 .1

15) Given the piecewise graphed below. Answer all of the following questions.

range: E—-g , o\))

"’*«x,m%% f«f ' &‘X‘}‘ ; increasing: (‘“ l ; 0) U ( 2, / OO)
- “’*«:1 2 &-——5—4— ) )
S5 { _ decreasing: (-w oo ,“‘I ) U (O ! 2. )

- "1 e V - absolute max: N,P\ relative max: (Dl | )
%g ,/’j | absolute min: ( o . “3> relative min: <*' \| O>
-b- %E% e d | x-intercept(s): (?“ o) é as X -> -0,y -> X
if’d_#f : ( { ,07

B - DR © y-intercept(s): | as x > e,y > O




.6} Graph the piecewise function and answer the following questions.

%+ 4 if x = -1
fix)=+38lx+1| if~1<x<3
AVEETT -2 if x >3
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(17 & 18) For each function below, find the domain and range of the original function, Find the inverse and state
“he domain and range of the inverse. Circle your answer for the inverse.

K = y* A4
17y Original f(x)=x%-4 Inverse X & L;: = U‘fz
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19) Find the inverse of the function. Graph the function and its inverse. Use a differ'in?'tolor' to graph the
e

inverse, 5
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20) Describe the translation(s) f(x) = —2ix — 1]+ 3 from the parent function f(x) = /x.

=) redlection over ¥-axis “4) Up 2

DNE of Z

2) right 1

21) Diescribe the translation(sh f{x) = ;(x' - 3)* +2 from the parent function f(x) = x2,

DLyl Y2
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22) Suppose that Tony thuf'is’d his Summer pay firotn hours 10-60. The pnecewme function is given below, where y
is pay in doflars and x is hours worked,

Summer Job Pay

a) Describe what is happening to Tony's
pay between the hours 40-60. :
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a) Describe what is happening to Tony's
pay between the hours 10-40,
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23.IF f{x) = x|~ 3 and g(x) = méix + 2, find when f{x) ='g(.§') using the graphing calculator.
Tt oo m do Srwos ‘% S0l where ”erfj m«d‘
(of cross each pthad)
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